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The Authorities for Voluntary Settlement of Disputes are

a. Works Committee
¢. Both( a)and (b

The primary function of Trade Union s to
A Secure tair wage to workers
¢ Both (a) and (b)

b,
d.

Conciliation Officer
None of the Above

Improve working condition
Only (a)

What is the minimum number of members required to make an application for

regustration of [rade Union
a. Seven
<. Fifteen

b,
.

Nine
Twelve

The correct objective of Industrial Dispute Actis to

A Promote pood relationship between
workers and emplovers
< Allow wrongtul dismissals

b.

d.

Allow llegal strikes

All the above

Which Act provides tor the appointment of adjudication authoritios

A The Factories Aot 1948
S The Minimum Wages Act, 1948

b.

.

The Industrial Dispute Act, 1947
None of the Above

Anemplover is not liable to pav compensation under Employvees” Compensation Act,

1923 when
A Workman s mtovicated
. Botha)and h)

As per Factonies Act, wha s an adult

A A person who completed 21 vears of
e

A person whe completed to vears of
ape

Lhe maci oljective of Factories Act, 1948 is

a. Piniection rrom Qecupational Hazard

. Uasure safen

b.

Williul disobedieonce of order
None

A person who completed 18 years of
cl}'ll‘

“one of the above

Fnsure health
All of the above
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12,
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14,

16.

19,

Strike is opposile to
a. Lay- off b. Retrenchment
¢. lLock- oul d. None of the avove

LLabour law entails within its ambit

a. Industrial relations b. Workplace safety
<. Employment standards d. All of the above
International Labour Organization is an agency of

a. World Health Organization b. United Nations

¢. UN Security Council d. None of the above

Peace and Larmony in industries is very important for
a. Economic development b. Education
c. Manpower d. None of the above

Disablement under the Emplovees” Compensation Act, 1923 iaay be
a. Permanent b. Total
c. Partial d. All the above

The Industrial Dispute Act came into effect in the year

a. 1947 b. 1948
¢ 1950 d. 1957
Who is the father of Trade Union movement in India
a. MK Ganchi b. Jawaharlal Noheu
¢. N.M Lokhande d. None of the above

Who is an appropriate government under the Minimum Wages Act, 1948

a. Central Government b. State Government

¢. Both (a) and( b) d. None of the above

Who is an dependant under the Employees” Compensation Act, 1923

a. A Minor b. Unmarried illegitimate daughter
o Widow d. All the above

Which Section of Trade Union Act provides for immunities against <ivil liability
a. Seclion 18 b. Section 17
¢ Section 9 d. Section 20

I'he temporary closing of a place of employment by an employer is vatled
A Lock- out b. Closure
¢ Lav-olt d. None of the above

Which one of the following is not a disputc settlement machinery
A Board of Concilliation b. Arbitrator
¢ Labour Court d. Collective Bargaiming
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Time : 2 hrs. 30 min.

[ Descriptive |

-

[ Answer question no.1 & any four (4) from the rest ]
Discuss the history of Trade Union movement in India,

Write International Commitments on development of Jabour
legislations.

Explain  various dispute settiement authoritics under  the
Industrial Dispute Act1947.

State the various provisions of the Factories Act, 1948with
regard to health, safety and welfare of workers,

Fnumerate the  provisions  and  restrictions  regarding  the
employment of young persons under the Factories Act, 1948,

Write notes on:
a.  Minimum wages
b. Strike

How far is an employer liable for compensation to a workman
injured by an accident arising out of and in the course of his
employment?

What are the privileges of a registered trade union?

Marks : 50
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